NCL — CWT, Written test for the Post of: HEMM Operator (Trainee), in reference to E.N.:187,dt: 22/02/2020, SET A

1 [ What is the first thing a driver should do if the 3R TR o Thd gIdT fad df Jad Ugd ISR BI
foot brake appears to fail? T HAT AMGT?
A) Steer from side to side only A) Fad U P 3 g1 Iadl I8
B) Sound horn only B) Had g1+ &y
C) Pump the foot brakes several times, lightly C) Ps IR W P DI UT B3, Geb I aSoih T
applying the handbrake and change to lower gear | g7 7R Sqa &) fFad R & ST
D) Change gears and sound horn D) R 9gd 3R 81 suiy
2 ‘Give Way’ signisof.................. shape. TIET% 3 15 ST G{W?ﬂ%l
A) Triangular B) Circular A) By B) GXIhR
C) Octagonal D) Hexagonal Q) DIy D) Ye@ Ui
3 | Which country on the world map appears as 3y & AR W SH AW, AT S T H
“ Long Shoe™? ﬁ'@ﬂ_sc o %?
A) Portugal B) Italy A) Jad B) Scal
C) Greece D) Hungary Q) I D) &I
4 Which day is observed as “National Hindi Diwas” | HRd =K QTQT[ gt fear ﬁm e gAr Sar 27
in India? A) 10 RidaR B) 14 SIax!
A)lOth September B)14th January C) 10 STaL! D) 14 RdeR
C)10™ January D)14™ September
5 | In India, The Kargil War is associated with: YR B, HRATA < [had 1Y JST 3T 5
A) Operation King B) Operation Meghdoot | A) 3{TaR= fab B) STURRM Hegd
C) Operation Blue Star D) Operation Vijay C) TRIA & TR D) SR fasra
6 | What is the area of triangle with base 5 meters 5 HieR 3TYR 3R 10 Hiex SHaTs ard HYS &
and Height 10 meters? &Amd fa- grm?
A) 20 Square Meter  B) 35 Square Meter A) 20 ¥ Hiex B) 35 f Hier
C) 25 Square Meter D) 40 Square Meter ) 25 Tf Hiex D) 40 Tf Hiex
7 | A shopkeeper sold an article for Rs 2500. If the | U& g&MaR 7 2500 ¥UF A %&ﬁ L B! o411 Tl
cost price of the article is 2000, find the profit a¥] B ANTd g 2000 §, af a1 Uf=Id I e
percent. A) 23% B) 25%
A) 23% B) 25% Q) 27% D) 29%
C) 27 % D) 29%
8 | Whose 35% is 280? 280 fpEpT 35% 7
A) 700 B) 750 A) 700 B) 750
C) 800 D) 850 C) 800 D) 850
9 | The speed of a boat in still water is 5 Km/hr. if the | fRRR ot # Us =1d &1 7ifd 5 Bt / ger g, afe amn
speed of the boat against the stream is 3Km/hr, & fovg 1a &1 i 3 fpet / ger g, df uRT 31 R
what is the speed of the stream? T 8?
A) 1.5 Km/hr B) 2 Km/hr. A) 1.5 Tt/ gar B) 2 fodit / det
C) 2.5 Km/hr D) 1 Km/hr Q) 2.5 fadt / der D) 1 fobit / der
10 | The age of Ram and Shyam differs by 16 years. 6 | ITH 3fR X9 &1 3T A 16 aY BT R &1 6 I
Years ago, Ram was 3 times as old as Shyam. U8, M &1 S WM 4 3 1 At | gaq= & W B
What is the present age of Ram in years? 31 freH as 87
A) 10 B) 20 A) 10 B) zo
C) 30 D) 40 Q)30 D) 4
11 | What is the average of first five Natural Numbers? | T UTd UTdhicldh SReAT3H bl Gﬁﬂﬁ R ?
A)5 B) 2 C)3 D)4 A) 5 B) 2 Q3 D) 4
12 | If one third of one fourth of a number is 15, then i T TS P TP AT DT T [agls 15 8, ol
three tenth of that number is? 39 =& o1 A <818 fewn fvdn g2
A) 35 B) 36 C) 45 D) 54 A) 35 B) 36 C) 45 D) 54
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13 | A train travelling with constant speed crosses a 96 | Rd Tid & TTY Ie dTcil ¢ Ag 12 YhS H 96
meter long platform in 12 seconds and another lﬂﬂaﬁf@'ﬂo‘lﬁaﬁ 3R 15 @Wﬁ 141 Hiex da
141 meter long platform in 15 second. The length | @ UR SRt 81 o P! TfaTs 3R I
of the train and its speed are: HU: 5
A) 64 meter, 44 kmph A) 64 HIR, 44 fouit ufa der
B) 64 meter, 54 kmph B) 64 HIex, 54 foH Ufd HeT
C) 84 meter, 54 kmph C) 84 Hiey, 54 ol ufd dar
D) 84 meter, 60 kmph D) 84 Hiey, 60 fovdit Ufd Her
14 | Find the simple interest when: Principle = Rs 180, | TT&/RUI &TS] JT1d ®X Od : AU = ¥ 180, &X =
Rate= 3% p.a. and time =5 years. 3% Ufdad SIRIHT =59V g |
A) 27 Rupee B) 48 Rupee A) 27 30 B) 48 3T
C) 68 Rupee D) 86 Rupee C) 68 3UY D) 86 ¥UY
15 | The loads supported by an automobile frame are: ‘3"5;'1:-"5”35'?’_’:[? R FHIT HR B
A) Weight of the body, passengers and cargo A) dT& T, . 3R P 4R 1 T
loads ’ B) $5M 3R THIftRM 4 I Tiop
B) Torque from engine and transmission <) G@@H” K ﬁafﬁaﬁm
C) Sudden impacts from collisions D) Al
D) All of the mentioned
16 | The central portion of the wheel is called: Tfed & HeHl HIT P! BHeT I
AR A) g B) Wbl
) Rim B) Scale
C) Hub D) Axle C & D) et
17 | Actual power delivered by the engine is known sﬁﬁ%gm ITF DI T ARATdD Lfdd Dl T Dl
as? SIS
A) Shaft power B) Horse power A) R Tfdd B) 3% XIfak
C) Brake power D) None of the mentioned | ¢) 5 rfaa D) Iwifad & q P1s +t 78t
18 | Which of these is not a power loss which takes g YA @ wfed g1, R iR SEfdn @A
place between engine and driving wheel? ¥ o9 g1 areht wfdd g1 et ]2
A) Power loss due to friction of piston bearings | A) fiest Al 3R R & 901 & SR 1A arett
and gears fed g1l
B) Power loss from clutch to drive wheel due to | B) fafdyer 4t & 0T & HRU 7ral | B3 &I
friction of various parts qeb g4 aTal Yfad g1
C) Transmission line loss C) TIAreR oe aifd
D) None of the mentioned D) S®Ifad H A HIs el
19 | The force that opposes the motion of a vehicle is: | &3t arga & fd & A I HA ara 9 &
A) Rolling resistance  B) Gradient resistance | A) feitT ufaRiy B) AfSUe UfeRlY
C) Wind or air resistance D) All are correct QUa Iy Uiy D) I wEl §
20 | Rolling resistance does not depend on which of | JfeRT feRy FRafefed eR®! & T P m AR
the following factors? T PRaT 82
A) Load on each road wheel A) TP TSh Ulgd BT SHTUR
B) Radius of driving wheel B) SI3fdT a1 B
C) Wheel inflation pressure C) ufedl § ga1 &1 A
D) Nature of road surface D) TS ! Hclg Bl UPid
21 | Wind or air resistance depends on which of the Yo 1 9y UfeR1Y FafeiRad sRep! § 9 fvg R
following factors? R Hare?
A) Shape and size of vehicle body A)TETF 3MHR 3R F1de W
B) Air velocity B)ag & AR
C) Speed of vehicle C) A I i TR
D) All of the mentioned D) Siiad 9+ IR
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22 | One Horse Power (H.P) is approximately equal to | Tes 3% T (H.P) TIHT__ dTc & SRIeR g
Watts. A) 810 B) 545
A) 810 B) 545 C) 634 D) 746
C) 634 D) 746
23 | A steam engine comes under the category of : Eﬂﬂgﬁﬂﬁ? H 3 by 9ot 7 ot o
A) External combustion engines A) ?ﬂﬂlaﬁsﬁﬂ
B) Internal combustion engines B) 31d: &g Sfor
C) All of the mentioned O) IfcwRad g+t
D) None of the mentioned D) Ifiiad ®1g el
24 | What is the disadvantage of using diesel engine in | USid 3o &t H SIoId S T SUANT A
comparison to petrol engine DT H AT R
A) Higher weight-to-power ratio A) 3= UR-Y-TIfaT SUTd
B) Higher maintenance cost B) 3= IWRWId I Id
C) Greater starting difficulties C) YR A H TS HidTS
D) All of the mentioned D) gt Sfcfed
25 | The pressure in an engine cylinder is less than oM Riciex § aa1d IgHe T &a1d 9 &H oidl §
atmospheric pressure when the engine is 9 S for e BT UGRH &R @1 Bidl &:
performing which stroke A) fa=mg B) HUTS
A) Suction B) Compression C) UTR D) ™
C) Power D) Exhaust
26 | The stroke of an engine is the: Wﬁ‘a’iﬁ;m%%‘:
A) Volume of the cylinder A X T ST
B : B) G XIS DI daTs
) Length of the connecting rod Arat o
C) Internal diameter of the cylinder <) Jﬁé@@m?ﬂg ot e e
D) Distance between TDC(Top dead center) and %J;%gq BDC (TcH
BDC (Bottom dead center)
27 | Engine pistons are generally made of aluminum | 51 fOReT 3 dR W TegHia| Iy urg ¥ s5
alloy because BId ¢ Fiffb;
A) It is lighter A) U8 §edl §
B) It is stronger B) U8 Hold &
C) It has less wear C) TG IUART & o1 THUH &1 §
D) It absorbs shock D) I8 ! B TN a1 8
28 | Piston compression rings are made of ﬁmvﬂ’r‘s_’:{ﬁ CERGES
A) Cast iron B) Steel A) RS RA Y B) WId ¥
C) Aluminium D) Bronze Q) TegHifAgg 9 D) B A
29 | piston pin is also known as: ?ﬁqaﬁﬁyﬁﬁ%&@%m@ﬁww
A) Gudgeon pin B) Crank pin _ A) TS R B) ¥ R
C) Screw pin D) None of the mentioned 0) % RF D) Gealfad B 4dt
30 | How can a two-stroke engine identified? a’r%gﬁﬂﬁwﬁaﬁ ST el 62
A) Piston size A) fore oreR @
B) Absence of valves B) ATed ! Ui I
C) Cooling system C) 2ftde= gurmelt &
D) Lubrication system D) W& Jumelt 9
31 | Bubbles of air in radiator is sign of e H ga1 & gagad U $T Yohd g |
problem. A) el sidb B) Tdhe
A) cracked block B) blown head gasket C) 9 sIdb D) 5 ad Pt BT

C) seized block D) lack of engine oil
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32 | Inter-metallic corrosion between steel studs and | T TS 3R TegHITH WY 1 & o 3faR-4Td
aluminum alloy leads to ST T Bt wfshar ufkafdd 8 ot 8
A) engine war-up A SO AR 3T A
B) higher fuel consumption B) 3if¥h SY- I WU H
C) cylinder head stick to cylinder block 0) e 3 e | fidisr sdie do
D) gaskets get damaged D) &ifoRRd e A
33 | What does the ‘ply rating’ refer to? TS AT fhay Tefed ]2
A) Aspect ratio A) THaT 3f0Td 9
B) Rated strength B) Y¢S AIdhd U
C) Recommended inflation pressure C) SFIRIRYd a1 qa@d ¥
D) The actual number of plies D) W3 &) aRafdsh T §
34 | When is the choke used in the engine? 3o H dI% BT IUTNT e fohdT STl 82
A) When the vehicle is idling A) 5§ 9189 IUIRT H et §
B) When the vehicle is accelerating B) Oid 98- Rd BIET§
C) When the engine is cold Q) V9 s deT |
D) When the engine is hot D) 5§ R TH §
35 | Why are the detergents used as oil additives? J9 e & =u H fSecie & SuanT & foea
A) To increase fire point ST 87
B) To prevent foaming A) a1 fdg seM & forw
C) To prevent sludge formation B) ST & 9 Ah & fary
D) To reduce viscosity C) HIIS T & Ah & g
D) fufIdIge ol % $HA & ey
36 | Which of the following is the most important e 7 o Vs o Ja Ag@yul qured 72
property of the lubricant? A) T B) U TTctahll
A) Density B) Thermal conductivity | ¢) feafaame DRIGEICT
C) Viscosity D) Melting point
37 | Which of the following is the need of the rRaTeT & ITffar Fo o 9 &F 9 g7
gearbox? A) @18 &1 Tfa giafeld & & fag
A) To vary the speed of the vehicle B) T8 & CIdh D! IGa o fo1g
B) To vary the torque of the vehicle C) dT8+1 &1 o Pl Tceid o o1y
C) To vary the power of the vehicle D) T8 & @RUI I URafid H & g
D) To vary the acceleration of the vehicle
38 | The Specifications for road signs are specified by | Ts® & Tl & foru NS fPo & grI Ay
A) IRC 6 B) IRC 21 forar ST ©:
C) IRC 67 D) IRC 97 A) TSR 6 B) TS 3R 21
C) ISR 67 D) 3SR 97
39 | The difference between the present ages of Anil and | 3ifd 3fR GrTdl &1 acH 1Y &1 3R 6 Y ¢ | 4
Sunil is 6 years. The ratio between their ages after 4 | g8 & dTg 3P| 3T & &I BT 3:4 g,
years will be 3:4 .What can be the present age of A B gda= 3T T Bl qhell 57
Sunil? A) 15 9 B) 18 a4
A) 15 Years B) 18 Years C) 20 @Y D) 24 9§
C) 20 Years D) 24 Years
40 | Out of three numbers, the first is twice the I FeRi T 9 el ¥R § 8 AR dRRI 3T
second and is half of the third. If average of the | 3mem g1 afe i Twmsif &1 56 g, O Ugall
three numbers is 56, the difference of the first 3R FRTY = &1 SR §
and third numbers is
A) 12 B) 20 A 12 B) 20
C) 24 D) 48 Q) 24 D) 48
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41 On aroad designated as ‘One Way’ Q@Wﬁr@ b HI SN fopar T -
T A) b e &
A) Parking is prohibited B) 3R ¥ T U iId 2
B) Overtaking is prohibited ) Fvadd iR 7 =781 =9 =nfgu
C) should not drive in reverse gear D) SURIerT Fait
D) All of these
42 | 107x65+1.07x26+1.07x9=" 1.07 x 65 + 1.07 x 26 + 1.07x 9 = ?
A) 10.73 B) 10.7 A) 10.73 B) 10.7
C) 107 D) 1.07 C) 107 D) 1.07
43 | When driving a motor vehicle downhill, the driver: WWWWW@%WW SRR :
. _ AR 8 FR & I Yo T g |
A) may coast down by stopping the engine B) TR &I g Hx & Td 3o fam1 o fohu gu
B) may coast down by using the neutral gear and e JbaT gl
not stopping the engine C) g MR @ FR 19 B 3R G Tl ¢ |
C) may coast down by using the neutral gear D) 1 1 B 3T 1R <ggdt HAT A1fRT 3R A 8
D) should not down by using the neutral gear HEREIEFERSIEINY
or stopping the engine
a4 The most widely used brakes are operated f@ﬁ @ﬂgmﬂ Bﬁaﬁ?ﬁ i;' Elﬁl T aﬂﬁsl%mgﬁ 2
A) electrically B) hydraulically C; ﬁ@m@ D))ﬁafagm
C) by air pressure D) by vacuum
45 | The environmental lapse rate is found to be: TRITARUT g & U SfTell &:
A) —6.5°C/km B) 8.6°C/km A) - 6.5° C/ forrit B) 8.6 ° C / fobeit
C) 6.5°C/km D) 5.6°C/km Q) 6.5° C/ fortit D) 5.6 ° C / fopeit
46 | Which of the following on inhalation, dissolved in | 79 & § Fo7 gfe W@E— & R R 3icR fern sme Y
the blood hemoglobin more rapidly than oxygen? | Yad SRaIaA O TeRiSH Bt SUe ool I gerar
A) Sulphur dioxide B) Carbon mono-oxide 87
C) Ozone D) Nitrous oxide A) JhR SR3HTARS  B) HIa HA 3ffass
C) 3l D)TIECH SHaTES
47 | Taj Mahal at Agra may be damaged by: RT RYT ASTHEd & Jha UgaH # g 0 9
A) Sulphur dioxide  B) Chlorine T HRP &l Jobdl 87
C) Hydrogen D) Oxygen A)TTRR SRAFR™S  B)FIRA
OESNE] D)3iTerRfiorH
48 | Year 2020 marks which anniversary of United ay 2020 T ATHY b VMY BI DI J THIS
Nations? & = | HARIT T ?
A) 68th B)70th C)73rd D) 75th A)68 df B70dl  C73dl D)75 df
49 | What is the name of the programme on health and | SIfaS -19 1 &I # Y@ g¢ IPH O7H wa
risk communication focusing on Covid-19, TR TaR 3 AP URYE' GRT WY Td
launched by National Council for Science & SR ST A IR R 6T T¢ SriHH HI
Technology Communication (NCSTC)? 1A 82
A) YATRA B) YASH INCIED B)IRT
C) YAGNA D) VARUN Qa¥ B)ERAYI
50 | ‘Ayush Kavach-Covid’, an application developed | ‘3N ®%ad- HIfAS ' S Y HAGT GRI (A RId
By the Ministry of AYUSH, has been launched by | T QU g, &1 S adrgde fod Ied/dhg TMRId
which Indian state/UT? S & gRT IUART YR fovam ram?
A)Madhya Pradesh ~ B)Uttar Pradesh A) 7 UeT B) 3TR UG
C) Haryana D) Bihar C) g D) fagR
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51 | ‘Naseem-Al-Bahr’ is a bilateral naval exercise THH-3A-98Y HRA U R A A feg e & 91y
between India and which country? o fguehy TR anamg g2
A) Indonesia B) Iran A) SSHRRT B) &M
C) Oman D) Saudi Arabia C) 3\ D) T34l 34
52 | Which state is going to observe “No Vehicle Day” | a9 2020 A Ul A8 & YyA fed * N dgfra s &
on the first day of every month in 2020? IR U H 9Tl 3T 9 B Y B 187
A) Kerala B) Gujarat A) BT B) ToRTd
C) Punjab D) Rajasthan C)uSITE D) ISR
53 | Where is the Chilka lake situated? ferenT Shdl gl 1RUd 52
A) Himachal Pradesh ~ B) Odisha A) erea uew B)3nfeam
C) Jammu & Kashmir D) Uttarakhand Q aug\aﬁqam:ﬂq D) STRRIS
54 | India adopted BS-V1 emission compliant fuels from | HRd e dRIG ¥ TRI-VI I I 54 B
which date? SN I & T IR 82
A) April 1, 2020 B) June 1, 2020 A) 1 30, 2020 B) 1 5[, 2020
C) September 1, 2020 D) January 1, 2021 01 fRdeR, 2020 D) 1 SHas, 2021
55 | India’s first commercial Liquefied Natural Gas YRd ! Ugal AT o forgm 384 & fag
(LNG) fueled bus was launched in which state? fPIPIES =R T &7 SXHT foba ST § fd
A) Tamil Nadu B) Kerala IT B YR B T
C) Odisha D) Rajasthan A) TG ERG!
C) 3nfe=m D) TSI
56 | Which national park in India has set up the YR & g IYM T THRI & o8 G- Dt
country’s first quarantine facility for animals? ugalt ;mﬁu T QT BT TS 22
A) Jim Corbett National Park A) 5 wide QTQT&:[ 3
B) Ranthambore National Park B) TUTw-ﬁTTI@HB?]FI
C) Kaziranga National Park C) BRI QTW RO
D) Gir Forest National Park ﬁ?ﬂ??@ﬂ?ﬁ]ﬁ
57 | Which country has the world’s largest elephant P _g‘ﬁfﬂ D! JaY 1GT ST BT SATSTG!
population? ?
A) Botswana INEIRCIGI]
B) Zimbabwe B) forarsd
C) Thailand Q) USds
58 | What is the name of the humanoid robot, which was WWWWW% o 811 81 H WRd
recently unveiled by the Indian Space Research 3fAfRes SFTHYUT TS (ISRO) GRI AR o
Organisation (ISRO)? T UT?
A) Gagan Mitra B) Vyom Mitra A) TR i B) H fi
C) Vayu Mitra D) Human Mitra aT!gﬁH D) OTd
59 | Which bank has recently become the largest issuer aﬁq 1 db BT ot & oI &rl%m T CTT OIRY R
of FASTags, at three million FASTags? T §51 BRI STRIchd! S 71T 87
A) State Bank of India B) HDFC Bank A) HRAT ®e b B) TI< U] §h
C) Paytm Payment Bank D) ICICI Bank C) Uy UHeE S D) SIS dh
60 | Captain Vikram Batra, after whom Delhi is to & fashd 7, e 1 R fiweh fRd gaR®
rename its Mubarak Chowk, was martyred in which | i &7 =19 S¢a T, 9 fbg g@rﬁmﬁa@?
war? A) 1962 BT AH-HRA1T &
A) Sino-Indian war of 1962 B) 1947 &1 W—HTWHQ&’
B) Indo-Pakistan war of 1947 C) PRAE gg
C) Kargil War D) SIS Hfek g

D) Bangladesh Liberation War
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61 | OnJanuary 2, 2020, Prakash Parv was celebrated | 2 SFaRY, 2020 B UehTRT Ud [y G & &1 o H
as birth anniversary of which Sikh Guru? JfITie & =0 & [T T4
A) Guru Harkrishan Sahib B) Guru Har Rai A) TS RIGIE g B) [E G
C) Guru Gobind Singh D) Guru Teg Bahadur | ¢) 7% Mfa Rig D) T[& o1 981G
62 | Which Indian sportsperson recently became the P I YR RIaTe! g1 H g ‘acs T Tydle
first-ever hockey player to win the ‘World Games | 3{fth g $TR "JRIHR Sii- aTell 3 ddb b1 Ggal
Athlete of the Year’ award? gl RIATS! &1 ?
A) Sardar Singh B) Rani Rampal A) R g B) X XTHUT
C) P.R.Sreejesh D) Vandana Katariya | ¢) dt° 3/R° sfiorr D) dGAT SHelal
63 | The majority of Amazon rainforest is contained in | 3G gufaH &1 SMfAHTRT YT Fofafea d 4 feg
which of the following country? e H 3afRud g2
A) Ecuador B) Brazil A) SHISR SIS
C) Peru D) Colombia O = D) dldfed
64 | If the simple interest for 6 years be equal to 30% | Tfe 6 I & IURIA JTYRUI TS Jd & & 30% D
of the principal, it will be equal to principal after: | SRTeR § @ &5 Yo & SRR ....... H GHTI
A) 10 @ B) 20 IY
A) 10 years B) 20 years 0 227 D) 30 3F
C) 22 years D) 30 years
65 | Total area of 64 small squares of a chessboard is | U@ A¥S &1 fSTd & 64 BIC T B Hdl &ABd
400 square centimeter. There is 3 centimeter 400 T Ffiex 31 foma & =Ry 3R 3 fiex
wide border around the chessboard. What is the | St ST 8 | AR Bt fodTd & UAS U4 H1 daTs
length of each side of chessboard? T 8?
A) 17 cm B) 20 cm A) 17 TH B) 20 gﬁt
C) 23 cm D) 26 cm €) 23 D) 26
66 | The total conflict points at a junction on both two &I ORI IR a1 IRTe IR ol Hey fdg o
way roads is : A) TH B) IR C) ur| D) &
A) One B) four C) Five D) Six
67 | What type of cooling system is provided in two- | gidfgar arg-i H fd ISR & LWdad yure Uam
wheelers? CAREIGIRCH
: o A) 51 S B) I1g e
A) Water cooling B) Air cooling 5 A
C) Liquid cooling D) Vapour cooling Q) @R D) ot
68 STOP sign is having shape STOPHRADT ____ PR
A) Octagonal B) Circular A) SFHT NERIEA
C) Triangular D) Any shape o) R D) forst oft SMHR &7
69 | What is the meaning of the sign: o it T o 1 o B
A) No U turn @
B) Must not turn right A A g e
C) Road ends and must go back B) AN
g C) TS THIG gidl § SR a0 ST =gy
D) U turn can be taken D) g T fordT off Wehell 8
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70 | Commercial vehicle layouts, engine is located I a8 A3M3c H 3o 31, T W B &
forward, rear or under floor mainly to T Ry fara ST B, 39T U SR §:
A\) better utilization of space A) SUARI WG DT AR SUIRT Dl
) Lction ot 3P B) SigcR o fdeRu & forg
B) better weight distribution 0) $4 SH Fa1 ¥ frg
C) increase fuel economy D) IR & o B HH B F 1T
D) reduce the weight of chassis
1 The metal used for brake drum is: i?gﬁﬂa;m%%'m“ W%B:) .
A) Aluminum alloy  B) Cast steel C) 914 Td D) PR
C) Pressure steel D) Cast iron
72 | What is the meaning of sign Hohd @1 3 T §
. A) TSH ST
A) Road incomplete B) URafdd T IRIET 3 &
B) Modified 'T" intersection ahead C) 3MI RSk %uﬂ?ﬁ g
C) Divided road ahead D) §H 4 S Tel
D) None of these
73 | The type of braking system referred to as power | sfdT Rieq &1 yR W%WWWG{THT g,
brake, makesuse of: | e BT IUANT Bl .
A) FaE Y B) UIfSd gar
A) electromagnets ~ B) compressed air o) faafa D) 598 q BIs el
C) vacuum D) none of these
74 | What does the commonly used automotive AR TR SIS a1 ofF aTdd Aiexarg dafd
abbreviation ABS stand for? &M AT TS (ABS)' FIT 62
A) Anti-lock Bear System A) TA-die fomR Rew
B) Anti-lock Braking System B) UCl-dlieh sifdh'T Riey
C) Anti-lock Block System C) UE-dieh sdilep ey
D) None of these DESEREIEEG]
75 | Which of the following is an Indian automobile | F@feiad & ¥ & th YR SffcAEsd AT
Manufacturer? 87
A) Eicher Motors B) ICML A) TR Hied B) 3MsEuHTA
C) Chinkara Motors D) All C) iR Ared D) it
76 | The principle constituents of a fuel are....... TH S A 9Ch g ......|
A) Carbon and hydrogen A) BTe 3R gIZZIoH
B) Oxygen and hydrogen B) 3fiaRflor 3R gIE Qo
C) Sulpher and oxygen C) JeBR 3R 3RS
D) Sulpher and hydrogen D) TR 3R EZSIoH
77 | Where the headquarter of OPEC (Organization of | 3fite (Ugifcrad Fafde GRI &1 ITG) B
the Petroleum Exporting Countries) is situated? | TReIerd ogl U 82
A) Vienna, Austria B) Qatar, Doha A) fag, siffearn B) IR, Glgl
C) Riyadh, Saudi Arabia D) Ankara , Turkey ¢ fare, 93¢t sRa D) 3{®RT, TH1

Page 8 of 11




NCL — CWT, Written test for the Post of: HEMM Operator (Trainee), in reference to E.N.:187,dt: 22/02/2020, SET A

78 | Climate represents................. W@E{-‘Zﬁm © v
A) The long-term average weather and its A) frat fou e 81 3 fore o siaa Jaw
statistical variation for a given region 3R 3Tt FifkeTp1g e
B) Weather averaged over a year B) Ush Tl § 3N¥yd HIgH
C) Itis a measure of variations in the amount of | ¢) 7g g1 A U SCad & WA &I STl §
precipitation D) SRIad | T P gl
D) None of the above
79 | Which scheme was launched by the government | dfds Jarafi & 3ifdie T 31fdw Al &l e &
of India to connect more and more peoples from f YR RBR GRT B I T TRE B 137
the banking services?
A) PM Jan Dhan Yojana  B) Make in India A) UITH S 4T AieHT  B) Bh 3 5fsal
C) Skill India Mission D) PM Mudra Yojana | ) S/ HRI IR D) ey HaT gierT
80 | Which app has been launched by the Government | 3/&fiie ThTH® COVID -19 TR fAIcTs el U
of India to collect geo tagged data on the highly | ®3 & It YRd TSR A S I VY 1= fbar g2
contagious COVID-19?
A) Aarogya Setu App B) Sahyog App A) 3RIT Ig TT B) T&dNT T4
C) BHIM D) None of the above | ¢) +fiH D) SWRIad § Y HIS et
81 | The UN 2019 Climate Summit convened on UG Y U & STerary AR T 2019 Bl
which of the following theme: fafafad o 9 oy fawa W smaford foar w:
A) Climate Action Summit 2019: A Race We Can | A) T8 TaRH Ife 2019: T dt & faq, T3
Win. A Race We Must Win df mxe fad
B) Climate Action Summit 2019 : A Collective B) FATSHC TGN IfHe 2019: U dhdfaed
Responsibility and Sustainability Yifaferdt g geeAfaferd!
C) Climate Action Summit 2019 : Stop Bad C) FAHT TaRH IfHe 2019; TIT 98 ST TS dc
Breathing and Let Others Live 3ed forg
D) None D) BTs el
82 | Lt. Lal Bahadur Shastri ji has served India as : I AT S8TgR XAl St A YR &1 dl &1 6
A) Union Minister of Home Affairs A) T T8 H3ll & Ud R
B) Union Minister of Railways B) Hhald X HAl & Ug W
C) Prime Minister of India C) YRd & Y U3 & Ug R
D) All of the above are correct D) IWRiad I+t Te §
83 | Which of the following particles is called the fafeiad o 9 {9 H01 & HU1 Ugud BT ordl 62
particulate pollutants? A) 3TSTH B) X8
A) Ozone B) Radon C) TS U D) Tiel
C) Fly Ash D) Ethylene
84 | Which of the following statements is true about | g TUIaIT Ya® b b TR A U B I I T
the Air Quality Index? HYT el 87
A) It indicates the colour of the air. A) T8 a1 & 1 &I 3T Il 5|
B) It predicts ozone levels in your area. B) TG 3T &F T SIS & TR &1 GarJHH Hral
C) It determines the intensity of sound and sound | |
pollution. C) I8 @i 3R a1 Tgyur &t <fear &1 FAeffa
D) It estimates air pollution mainly sulphur AT
content in the air. D) g o1 YV T A I & Foredt e
0 Y gaT & TepR B AR S |
85 | Which of the following gases are called fafaied o § fog 19 &) W98k 19 Fet S

Greenhouse gases?
A) Methane B) Nitrogen
C) Carbon dioxide D) Both Aand C

87
A) T HEIEESE]
C) Bl SIEITRISES D) A 3R C T
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86 | The Exhibition named “EKAM Fest” is organised "SHTH Thic" ATH BI UG (Y Ped BT gRI
by which Union Ministry? ST T ST 87
A) Ministry of MSME A) THTHUHS (MSME) HAT@T
B) Ministry of Social Justice & Empowerment B) ISR =g 3R SfAe1Rar Harerg
C) Ministry of Textiles C) PUSI HATTY
D) Ministry of Steel D) S¥Td HATTT

87 | As per the directive of Petroleum Ministry five Ugifor HATer & MARIMNR Uld IRGRI 0d 3R
state-run oil and natural gas PSUs would make Tide 19 Aidel-e SUshH fod MY & fawdia
financial contribution to which fund? GRTGH 3?
A) Green Energy Fund A) FH TSl B8
B) International Solar Alliance Corpus Fund B) SRS YR TARY HiUg B
C) UNFCC Fund C) JUATHHIT (UNFCC) BhS
D) Nirbhaya Fund D) Fir s

88 | Khudol, that was listed in the UN’s top 10 global W I coVID-19 & Raame F‘I?aef & fou W
initiatives to fight against COVID-19, is being 1Y B =Y 10 YD vgal | Felleg fasar a4,
implemented in which state? fora o9 o AR foam o1 <87 57
A) Kerala B) Manipur A) B B) AOTGR
C) Assam D) Rajasthan Q) 3 D) IS RIH

89 | Who has appointed as the new President of the TRITEE! 31 SfeTA sffcHiasd TghdeRy
Society of Indian Automobile Manufacturers %(ﬁmm) & U el & U H by fged fovam man
(SIAM)? ?
A) Kenichi Ayukawa B) Chung Mong-koo A) BT srgerar B) 971 AIT-%
C) Guenter Butschek D) Gaku Nakanishi C) Tdex dedd D) I B

90 | Who has appointed as the new Chairman of ST e {SE1er (NSD) @ 7T el & =0 H
National School of Drama (NSD)? fore frga fasar man 82
A) Paresh Rawal A) ORRT I1ad
B) Prakash Raj B) TIhIRT M1
C) Nasiruddin Shah C) TR 8
D) Shriram Lagoo DEINEI

91 | Former Prime Minister Lt. Lal Bahadur Shastri ji | gd TemwEt Tifg @Tet 98TgR Qe ot &1 Hed
died in Tashkent, Where it is situated at present? | dT=Idhg § g3MT, IHM | T8 DBl [Ud 87
A) Russia A) =4
B) Ukrain B) geb+1
C) Uzbekistan C) Iufded™
D) Tajikistan D) dTfoifdhedr

92 | The recently launched Bhuvan Panchayat web BT & 8§ di-d Yd GaTd a9 Uied Bl 1T IR0l
portal’s new version 3.0 uses the technology of 3.0 forT TTe &) Il BT SUTNT BT &7
which organisation? A) HRAIT S{Rel SIHY W1e
A) Indian Space Research Organisation B) &I 3IJHYUT 3R fapr e
B) Defence Research and Development C) Rgeam wRAieH fafies
Organisation D) YRd Saae ey faftics
C) Hindustan Aeronautics Limited
D) Bharat Electronics Limited

93 | ‘NAMASTE’ is a portal of which Union Ministry of | 'NAMASTE' YRd & {9 haid HTerd &1 U ied

India?

A) Ministry of Defence

B) Ministry of Communications
C) Ministry of AYUSH

D) Ministry of External Affairs

87

A) &1 HATTY
B) TR HATT
C) SN HATT
D) faq=r darer™
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94 | What is the name of the mobile application forart @Y Smyfd g ¥ SieA & forg a7 iR
launched by the Council of Scientific and NN ST URee (RTHIAEIAR) GRI
Industrial Research (CSIR), to connect farmers to | fQ 77T HaSd TSGR BT 19 T 872
supply chain? A) foam vy B) for T TuT
A) Kisan Rath B) Kisan Sabha C) foram Ren D) forar agfs
C) Kisan Suraksha D) Kisan Samriddhi

95 | ‘HOPE’ — Helping Out People Everywhere, portal | 'HOPE' - 8 S8 @1 &1 AGG Bl Uled 1o
is an initiative of which Indian state? YR T Pt U Ugd g7
A) Odisha B) Uttarakhand A) Sfifsam B) STRIGS
C) Punjab D) Kerala Q) USTE D) Ixd

96 | What is the name of the campaign launched by COVID-19 W%WWW%‘TW
NITI Aayog to ensure well-being of senior & G B & o fifd ST gR1 L= fhu
citizens during COVID-19 pandemic? T TR BT ATH 7 82
A) Surakshit Dada-Dadi & Nana-Nani Abhiyan A) IRIEd areT-gret SR AFAT-AR i
B) Take care of Elders B) S8 o] BT TW
C) Dada and Dadi Bachao Abhiyan C) aTaT 3R gret sarsil M
D) Suraksha Samriddhi Abhiyan D) W& i S

97 | Which institution has been selected as the e Wie dex & siraf R i (dieq @iy &
implementation Agency for PM Street Vendor’s | forg srafraem Toitlt & U & forg I &1 A1
AtmaNirbhar Nidhi (PM SVANidhi)? a1 8?

A) Life Insurance Corporation of India(LIC) A) YR Sfiaq &A1 73 (LI

B) National Bank for Agriculture and Rural B) T@H P SﬁT‘;ITﬁﬁUTﬁW % GIEIS)
Development (NABARD) C) YR Y I fawT § (SIDBI)

C) Small Industries Development Bank of India D) T 3manT

(SIDBI)

D) NITI Aayog

98 | Union Minister had launched the Coal Mine Wﬂiﬁﬁ%ﬁ@ﬁﬁm&ﬂi 3 gRT
Surveillance & Management System (CMSMS) AR d UheH 3R Higar
and Mobile Application named @'cﬂ?fﬁTm:ﬁ R IR et Tumelt (CMSMS) @ e
developed by CMPDI, Ranchi in New Delhi. Y|
A) Kala Khan B) Khanan Prahari A) BTl W B) W1 Ugsl
C) Khadan Vigil D) Khan Vigil C) We Jgadbdr D) WM Al

99 | The British Government police arrested Gandhiji | fafe= TSR A Tga IR Tielion & FREIR fora
for the first time at: A) SEHGETG | B)Gier d
A) Ahmedabad B) Dandi C) ITeRwa H D) fowett &

C) Sabarmati D) Delhi

100 | Who was the political Guru of Mahatma Gandhi | H&TeT TT7el St & IToI-iTaIeb & I A?
ji? A) TOTd 8T TREa
A) Gopal Krishna Gokhale B) GUTFiG ARl
B) Dayanand Saraswati C) dig ATy TR
C) Ravindra Nath Tagore D) IWIdd § ¥ B o
D) None of the above
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HEMM Operator (Trainee)-CWT
(Exam Held on 29/11/2020, in ref to E.N. 187)

Ques.| Correct | Ques.| Correct Ques.| Correct
No.| Answer No.| Answer No.| Answer
1|C 36|C 71|D
2(A 37|B 72|C
3(B 38|C 73(B
4|D 39|C 74(B
5(D 40|D 75|D
6(C 41|C 76|A
7(B 42|C 77|A
8|C 43|D 78|A
9(B 44\B 79|A
10|C 45|C 80|B
11|C 46|B 81|A
12|D 47|A 82|D
13|C 48|D 83|C
14|A 49|B 84|B
15|D 50(B 85|D
16|C 51|C 86|B
17|C 52|D 87|B
18|D 53(B 88|B
19|D 54|A 89|A
20(B 55(B 90|A
21|D 56|A 91|C
22|D 57|A 92|A
23|A 58|B 93|C
24|D 59(C 94|B
25|A 60|C 95|B
26|D 61|C 96|A
27|A 62|B 97|C
28|A 63|B 98|B
29|A 64|B 99|A
30|B 65|D 100|A
31|B 66|D
32|C 67|B
33|B 68|A
34|C 69|A
35|C 70(B




